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Please make sure that the printed pages in this question paper are 8 in number and
it contains 20 questions.

o W0 § g8 F RE T WE TE B O FoYhaw  JE-yT W G
The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.
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Before answering the questions, ensure that you have been supplied the correcy ang
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General Instructions :

(1)

(i)
(iii)
(iv)
(v)
{vi)

(vii)

All questions are compulsory.

There are 20 questions in all.

Question Nos. 1 is objective type questions. It consists of fifteen (i-xv)
questions of 1 mark each.

Question Nos. 2 to 9 are very short answer type questions and carry 2 marks
each.

Question Nos. 10 to 17 are short answer type questions and carry 3 marks

each.
Question Nos. 18 to 20 are long answer type questions and carry 5 marks

each.,
There is no overall choice. However internal choice is given in all three long
answer type questions and carry 5 marks each. You have to attempt only

one of the given choice in such questions.

(viii) Use of Calculator is not permitted.
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( 7e)
(Objective Type Questions)
oA WY T e 999 3% & o Neid B | 1
(A) T B) T
(C) am (D) &R

Slope of displacement-time graph in straight line motion represent :
(A) time (B) distance |

(C) velocity (D) acceleration

50 /T 7 60 7T B 3 9 B g T wE-gE 3 Rk Rer 7 R
WWWWW%

(A) 10 =& (B) 110 I&A

(C) 3000 &= D) =

50 N and 60 N forces are acting in opposite directions at a point. Their
resultant force is : ' |

(A) 10 Newton
(C) 3000 Newton

Wg&swr@mﬁm%gﬁqﬁaﬂmaﬁﬁ%mgsw%aﬁﬂma
T@»‘T'ﬁ%l me(g=9.8 Ho,/A0?) :

1

(B) 110 Newton
(D) Zero

gehcl
1

(A) 4 (B) .5
(C) -6 (D) L
A force of 98 N is just able to move a block of mass 20 kg on a rough
" horizontal surface. Coefficient of Friction 1s (g = 9.8 m/sec?) :
(A) .4 (B) .5
(C) .6 (D) Zero
. 1
o fe fivg @ WA A A A T, & g e Soft 8 ST -
(a) e (B) o
© - {Fﬁ > i its Kinetic
When the momentum of body 1s increased by two tmes,
Energy becomes !
(A) Twice (B) Half
(D) Nine times
p.T.O.

(C} Four times
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Wm:waﬂrfmf«%aﬁmiﬁﬁzﬁwﬁmﬁwﬁﬁ%wwéﬁqﬁﬁ
'”3“1‘31@“?%: 1

(A) MR* (B) —é MRQ
w 2 ‘ 2 2

C) = “ =

(C) z MR (D) 3 MR

M is mass and R is radius of circular ring, The moment of Inertia about
an axis and perpendicular to planc is

(A)  MR” (B) %MR?‘
W2 pep? 2 nrp2
€ Z MR (D) % MR
TR (P, T (c) T Aol A (o) F A F 1
(A P== (B) P=10
(€ P=2 (D) =Py

T

Relation between Power(P), Torque (t) and Angular velocity (o) is :

(A) P:% (B) P=1o
(C) P=5§- (D) t=Po
ﬁ%ﬁ@%ﬁﬁﬁﬂwaiﬁ%ﬁmwmmwm
G| ? 1

If the earth revolves around the Sun in circular orbit, then what would be
the work done by the gravitational force ?

(vili) T F SE-ATeT FF IqH B ¢ 1

(1x)

Why are high tides and low tides in the sea ?

FoAreE! & g7 e e Fmrrae T B Rl s @ 7 1

Which thermodynamical variable is defined by the zeroth law of
thermodynamics ?

T B dlae @ ok ST B I6E A AT I Ra o9 @ I
HGIFT F A feheeT B 7 1

What will be the value of the time period of a simple pendulum if the
amplitude is reduced to half of its original value ?
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(xi) ¥ e (R) @ S1 W T 7
| What is SI Unit of Gas Constant (R) ? |
(xii) T 9 W R T @ wer afoe S R ee ?
How much will be the Kinetic Energy of a gas at the absolute zero ?
{mu)ﬁﬁrqaﬁ—wﬂ%%%%ﬂﬂﬁwﬁﬁﬁﬁmﬂﬁ%? !
What is the number of degree of freedom of a molecule of a monoatomic

gas ?
xiv) Ne & Sy Resr @ o @ g fofed 1

Write the relation for pressure by kinetic theory of gases.

(xv) Wﬁﬁ%@ﬁﬂﬁmmﬁiﬁa@ﬁﬁmmwm?

What will be the ratio of fundamental frequ ;
: en
organ pipe of same length ? quencies of an open and closed

(atfRr-mg Tl )
(Very Short Answer Type Questions)
aﬁFaaaxgﬁ%,ﬁaabqﬁﬁmﬁﬁm#ﬁm

x is the distance. Calculate

1

2

<Y F=a+ bx
In a relation F = at bx where F is the force,

dimensions of aand b.
qzsmﬁamﬂzrgq‘ﬁaamsﬁamaﬁaﬂtw%waa%gﬂ mﬂaﬂrw
swmw%raﬁﬁmaﬁﬂﬂégﬂwmﬁwmmaﬁﬁm

aking a right turn walks 8 m

s 4 m East, then 5 m North, then t

A man walk
ravelled by the man and its displacement.

straight. Calculate the distance t
st & AT @ FAT g e ferd 2
Write parallelogram law of vector addition.
= @ M B Rrdy fraw &t RS 2
Explain the Newton's Second Law of motion.
2
Fd-a g frad
gy theorem.
P.T.O.

Write the work-ener
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measurement of.a, b and c are 1%,
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(8)
L 0, 2 93 9 A A gy e & ¥ P A ﬁgm%ﬂzﬁ"’mmfﬂw
W T O Y, A it % g P e () A1 o ?
Y

e

(0, 0)% X

\..'s ?
2™
Locate the centre of mass(C) of a system of three particles of masses | gram,
2 gram and 3 gram placed at the corners of a cquilateral triangle of | metre side

g

3 gram.

—-— e - =
@

~

1 gram 2 gram” X

o Rt et 1 ofamar iy

Define Gravitational Potential Encrgy.

e @ aw fftg

2
Write Pascal's law.

(g sl we)
(Short Answer Type Questions)

@ﬁﬁmnﬁxﬂwmﬁﬁma,bqﬁcﬁﬁHWWﬁw%:

_ aajbﬂ

(0, 0)

3
X

a bW c % A & FEM 1%, 2% T4
w3 s A

If a physical quantity is X =2

c
3”::%13&11?%1 mx%qﬁﬁﬁmﬁaqﬁq

31,2

and the Percentage errors in Lhe
2% and 3% respectively. Find the

maximum percentage error in the measurement of physical quantity X
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11. T% AR gal 9 W
U% g @ T H U R 8T, ared @ Afyedd Mo F
ATITH A &1 %ﬂ?ﬂ’ll & ﬁ“it’.B
Explain the moti i : - '
e v;ll;c :Eyn of a vehicle on a la?ve] circular path and give the formula for

12. ziy f g w0 @ P g e @i oot & W @ Fow A e s a9

: nergy of a freely falling body justifi
conservation of Mechanical Energy. s y justifies the law of

13. iy g3 S @ oy ey 5D R @ SEE 3 W Ak 3

State the law of conservation of Angular Momentum. Explain ilt by giving any

one example.

14, et § fivs & gamad 3 F G I BT

Obtain the formula for the escape velocity of a body from the earth.

15. m-ﬁﬁmﬁm%wmﬁm,wﬁgwml

With help of stress-strain curve explain limit of elasticity, yield point.

16. WWW%?WWW%WHW.OQSkg%sm%ﬁm
awélﬁm%awwmﬁmzm%lyﬁﬂmegmqﬁwﬁr 3

What is simple pendulum ? The bob of & simple pendulum'has a mass of
h of the string is 1 metre and time period 2 second.

.025 kg. The effective lengt :
Calculate the value of acceleration due to gravity ().

17. ﬁﬁ@ﬁﬁ@wwﬁ%ﬁﬂ%@m

Write laws of Transverse Vibratiops of a Stretched String.

(& sl o)

(Long Answer Type Questions]_

18. @W@%W%ﬁﬁ%ﬁéewﬂuaﬂﬁ%ﬂm%mﬂw
der

Serd o et T A AT o | |
A projectile is thrown at an angle @ from the }}onzontal_v.}'llth :f;?:;g :nanthe
thg rgi'avitational field of Earth. Find its 'ma}nmum height a

horizontal range. .
. p.T.O.
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L
OR

wmaﬁﬁnﬁraﬁqﬁwawmwwﬂrw’@ﬁm%um
TE I u ¥ ¢ w e oW A v B g R @ SE a0 Re @

SzuH%c:.'.t2 E'ﬂ‘m

Define uniformly accelerated motion. A particle is moving with umform
acceleration a in a straight path. Its initial velocity is u and final velocity v

. . 1
after time t. Using calculus method show that S=ut+ §at2.

FoRER & W e @ g @ 4 S g Cp - Cy = R 1 BT g 5
Establish Mayer's Formula Cp - C, = R from the first law of thermodynamics.
FYqr
OR

AT S F R T e B aEd 9 a6 @ g ah s

Explain the work done in an isothermal process and find formula for work.

TR B e B e o Res # 5

State and prove Bernoulli's theorem.

YT
OR

I ¥ ST T T € 7 U W &9 & Pl et @ Re dwig 3 @ e a3 a4

What do you mean by viscosity ? Obtain an expression for terminal velocity of
a ball falling in a viscous liquid.



